SERIES DAY 5

Ratio and Root Tests

Ratio Test

Let > a, be aseries of nonzero terms.
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3. The ratio test is inconclusive if lim|—=1 =1
n—owo aﬂ

Series involving expressions that grow very rapidly such as factorials and/or exponential work especially well
with the Ratio Test.
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Root Test
1. ;a,, converges if Lmq/]aj <1

2. iaﬂ diverges if Iim(/]a_,,|>1
n=1 n—wo

3. The Root Test is inconclusive if limz/|a,| =1

If the entire rule of sequence can be written as power of n, the Root Test is hard to beat!
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